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DC'S & DR'S

LAQ (1D STAR Q)

1. Find the angle between the lines whose d.c's

are related by

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MtSpHxuNeunc


Watch Video Solution

l + m + n = 0&l2 + m2 − n2 = 0

2. Find the angle between the lines, whose

direction cosines are given by the equation

 and .

Watch Video Solution

3l + m + 5n = 0 6mn − 2nl + 5lm = 0

3. Find the direction cosines of the two lines

which are connected by the relations

https://dl.doubtnut.com/l/_MtSpHxuNeunc
https://dl.doubtnut.com/l/_oIYX9992WbM6
https://dl.doubtnut.com/l/_ePnpco4PL5oM


Watch Video Solution

l − 5m + 3n = 0, 7l2 + 5m2 − 3n2 = 0

4. Find the direction cosines of the two lines

which are connected by the relations l + m + n

= 0 an mn - 2nl - 2lm = 0.

Watch Video Solution

5. Show that the lines whose direction cosines

are given by , 
l + m + n = 0

https://dl.doubtnut.com/l/_ePnpco4PL5oM
https://dl.doubtnut.com/l/_XbzQIMJhFrFS
https://dl.doubtnut.com/l/_DGCCcc4SjKAh


 are perpendicular to

each other .

Watch Video Solution

2mn + 3nl − 5lm = 0

6. If a line makes angles  with the

four diagonals of a cube, then show that

.

Watch Video Solution

α, β, λ, δ

cos2 α + cos2 β + cos2 λ + cos2 δ =
4

3

https://dl.doubtnut.com/l/_DGCCcc4SjKAh
https://dl.doubtnut.com/l/_N73IsWwPMLkv


LAQ , VSAQ (2D HARD Q)

7. The angle between any two diagonals of a

cube is

Watch Video Solution

1.  is formed by a (1,8,4), B (0, -11,4) and

C(2,-3,1) . If D is the foot of the perpendicular

from A to BC . Then the coordinates of D are

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_QVBgFo8b3vdo
https://dl.doubtnut.com/l/_RILTUR842w5o


2. If a line makes angles  with the

four diagonals of a cube, then show that

.

Watch Video Solution

α, β, λ, δ

cos2 α + cos2 β + cos2 λ + cos2 δ =
4

3

3. Find the direction cosines of the line joining

the points (-4,1,7),(2,-3,2)`

Watch Video Solution

https://dl.doubtnut.com/l/_RILTUR842w5o
https://dl.doubtnut.com/l/_l9VEyu2uUXlG
https://dl.doubtnut.com/l/_Bz0xxlZaNphI
https://dl.doubtnut.com/l/_f7ljoPQliDVq


4. If the d.c's of a line are  then

find c.

Watch Video Solution

(1/c, 1/c, 1c)

5. O is the origin, P(2,3,4) and Q(1,k,1) are points

such that  Find k.

Watch Video Solution

¯̄̄ ¯̄¯OP ⊥ ¯̄¯̄̄ ¯OQ.

6. Find the d.c's of a line that makes equal

angles with the axes, and find number of such

https://dl.doubtnut.com/l/_f7ljoPQliDVq
https://dl.doubtnut.com/l/_Ebqn1UJvrWzr
https://dl.doubtnut.com/l/_hNRPVcHtdbTK


lines.

Watch Video Solution

7. A ray makes angles  with 

 respectively. Find the angle

made by it with 

Watch Video Solution

π /3, π /3

¯̄¯̄¯̄OX and ¯̄̄ ¯̄¯OY

¯̄̄ ¯̄¯OZ

8. If  are the angles made by a line with

the positive directions of the coordinate axes,

α, β, γ

https://dl.doubtnut.com/l/_hNRPVcHtdbTK
https://dl.doubtnut.com/l/_ncpqWxagOoUD
https://dl.doubtnut.com/l/_3WFTuXYfCBpw


MISCELLANEOUS (3D MIS Q)

then 

Watch Video Solution

sin2 α + sin2 β + sin2 γ =

1. If (1,-2,-2) and (0,2,1) are direction ratios of

two lines, then direction cosines of a line

perpendicular to both the lines are

Watch Video Solution

https://dl.doubtnut.com/l/_3WFTuXYfCBpw
https://dl.doubtnut.com/l/_zwFQnlLH9al5


2. If the vertices of a angles are A (1 , 4, 2) , B (-2

, 1 ,2) , C (2 , 3, -4) then find  .

View Text Solution

∠A, ∠B, ∠C

3. If (6,10,10),(1,0,-5), (6,-10,0) are vertices of a

triangle, find the direciton ratios of its sides.

Determine wherther it is right angled or

isosceles.

Watch Video Solution

https://dl.doubtnut.com/l/_TTmWme63vUN5
https://dl.doubtnut.com/l/_EGK3ZhBN19XD
https://dl.doubtnut.com/l/_TZ2281DpDVib


4. A (-1,2-3), B(5,0,-6), C(0,4,-1) are three points,

Show that direction cosines of the bisectors of

 are proportional to (25,8,5)and

(-11,20,23).

Watch Video Solution

⌊BAC

https://dl.doubtnut.com/l/_TZ2281DpDVib

